Kosuke SUZUKI

Corrections were made in underlined parts.

(Question)

	Could the operating surplus relating to imputed rent that you mentioned above be “mixed income”? I still cannot find the combination of mixed income that can be drawn from the Main Table 2. My impression is that mixed income includes income from farm and non-farm of private unincorporated enterprises (3(3)a and b). Is imputed rent (3(3)c) also part of mixed income? 


(Answer)

· The answer is “no.” 
· As you wrote in your question, "mixed income" is profit of actual private unincorporated enterprises, which includes operating surplus and wages for entrepreneurs (it is difficult to distinguish these two items; that is why they are recorded as “mixed income”). On the other hand, profit of owner-occupied dwelling industry does not include "wages and salaries" by definitions, so that it is classified into "operating surplus." Therefore, regarding household sector (including private unincorporated enterprises), there is an item “operating surplus and mixed income,” which consists of pure operating surplus of “assumed” owner-occupied dwelling enterprises and mixed income of “actual” private unincorporated enterprises.
· Profit of private corporations = operating surplus 
· Profit of owner-occupied dwelling (“assumed” private unincorporated enterprises run by homeowners) = operating surplus (this does not include wages and salaries)
· Profit of private unincorporated enterprises = mixed income (this includes operating surplus and wages & salaries)

Note: Owner-occupied dwelling (an assumed industry) is classified into private unincorporated enterprises corporation. [Sorry for confusion. This is not a so-called “corporation.”  See SNA93 Para 4.140]
4.140. Producer units within the household sector are all "unincorporated enterprises", even though this terminology is admittedly cumbersome when applied to some of the smaller, or highly specialized, producer units.  Nevertheless, the term "unincorporated enterprise" emphasizes the fact that the producer unit is not incorporated as a separate legal entity from the household itself.
· Please also see Income and Outlay Accounts classified by Institutional Sectors in JSNA. You would check Table 5 for Households (including private unincorporated enterprises), line1.3 (1) and (2).
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About Imputed Rents for Owner-Occupied Dwellings (vol. 4)

(Question)

	The operating surplus for the household sector is only the profit of imputed rent, isn’t it? Thus, the value of operating surplus (gross) of the household sector [2(5): 2.Income and Outlay Accounts classified by Institutional Sectors-for the household sector in JSNA] and the amount of consumption for imputed rent [5(13): Supporting Table-household consumption in JSNA] are not equal. The first one is the profit (total consumption minus cost). The latter one is total consumption. The cost could be intermediate consumption, i.e. cost of doors to replace old ones.


(Answer)

· Yes. The operating surplus for household sector is the operating surplus of the owner-occupied dwellings industry (OCD, hereafter). The rest of the profit of the household sector (which is produced by private unincorporated enterprises) is considered as “mixed income,” since it cannot be decomposed into pure operating surplus and compensation of employees. See SNA93 Para 7.81.

[Para 7.81] 

Mixed income is the term reserved for the balancing item of the generation of income account of unincorporated enterprises owned by members of households, either individually or in partnership with others, in which the owners, or other members of their households, may work without receiving any wage or salary.  In practice, all unincorporated enterprises owned by households that are not quasi-corporations are deemed to fall in this category, except owner-occupiers in their capacity as producers of housing services for own final consumption and households employing paid domestic staff, an activity that generates no surplus.
· The operating surplus of OCD is smaller than imputed rents, as you mentioned. Imputed rents are equal to the output of OCD. That is; the services produced by OCDs is all purchased by the households (owner-occupier) themselves.

· Operating surplus of OCD = output of OCD – input – consumption of fixed capital – (taxes on production and imports, less subsidies)

· Output of OCD = imputed rents of OCD

· Input = maintenance and repair

·  “Taxes on production and imports, less subsidies” would mainly be property taxes. 

· You could find that, in the above equation, there is no wages and salary factor.
